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CLASS TX

CHAPTER 1
NUMBER SYSTEM

VERY SHORT AND SHORT ANSWER TYPE QUESTIONS
Q1. Find x if 27*=9/3"
Q2. Solve (V5)' +(V5)°=5".
Q3. Evaluate V42 /8%
Q4. Find % with rational denominator if x =5 + 2.
Q5. Arrange the following in ascending order of magnitude : ¥3,34,V2
Q6. Arrange the following in descending order of magnitude : Y90, V10,V6
Q7. Find the decimal representation of 2% and state its type.

Q8. Evaluate Y256 + 3216 — V64

27
125

2 (3224
)2+

Q9. Simplify (° —

Q10. Express each of the following recurring decimals as a rational number
.05
ii). 0.13
iii).0.341

Q11. Add 2v3 ++/5 and V3 - 3V5

Q12. Divide 12V8 by 22

LONG AND VERY LONG ANSWER TYPE QUESTIONS

Q13. If x=2 + V3 , find the value of (x — =)’

Q14. If a=1- V5 , find the value of a’ - 1/a°
Q15. Simplity:
6 V6 43
A= B VBN NE—T

Q16. Express each of the following recurring decimals as a rational number p/q

L 0127
. 0.3578
. 0.7435

Q17. Show that:
1 1 1 1 1

3-Ve o7 V6 Vo5 -2
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QI8. If a,b and c¢ are rational numbers, ﬁp‘-gl their Vdlues in each of the following

5+2v3 _
s @+ bV3
Jf—zf%=a—b\/3+ cV3

Q19. Simplify:

V81— 83216 + 15%/32 + V225
Q20.Simplify

). V3X 53+ 3-1.45 x 3x5%

ii). 252 X 2433

16+ X 83
-3 _3
iii). (%)TX [(395)? = @-3]

ANSWERS:

x=%
x=1
g
28
V5 -2
V2 ,33,V4
V6,110,390
2.416 non terminating recurring decimal expansion , a rational number
8
9/25
10.5/9
11.13/99
12.341/999
13.12
14.-4y/5
15.0
16. i). 63/495 ii). 7015/1998 iii). 7361/9900
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18.i).a=11,b=-6
ii).a=12,b=2,c=4

19.0

—4

20.i).3.53
i), 5°.7°/2°

iii). 1
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